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NN %A BEMER  |HEE 180.0 il 1 1| 1| 1| 1| 1| 1| 1| 1| 1| 1| 12| 2,160.0
16 | 7%

HEERY RTEH AX 10.0 1| 1| 1 1| 1| 1| 1| 1| 1| 1| 1| 1| 12 120.0
17 | B

REREHEREDR EETWER (B 40.0 1 1| 1| 1| 1| 1| 1| 1| 1| 1| 1| 1| 12 480.0
18 | 7%

§ ) $HEZHEAE
RERERREAN RAEH 7;;%1#)5!1;{ 5.0 15| 15| 15| 15| 15| 15| 15| 15| 15| 15| 15| 15| 180 900.0
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TR ~ = =5
S48 BE &4 thsy4E segems Epaw P IR 48 |5H | 6B | 7H | 88 | 98 |10B(118|12B| 1B | 2B | 38 &5t (B (=) .
) (EES | EER | (R | (R | (R | (R | (R | (RN | (R84 R b b
41 | BA|KEEZSFHELA
24T (W = - -
%i‘ﬁ( BB%R  |gmmposm RREHB e 2.0 3| 5| 15| 5/ 5/ s| 5| 5| 3] 31 3] 3] 60 120.0
501 [&O| B@EFrLODTS
1 AR T2 EEH (. 5043 Zx .
R10532 7 f ff'r"ﬁsi“” e S I - 3.0 | 20|150{100| 50| o] ol o| ol o o| o| o| 320 960.0
2 &0
R ARG ERRE)| ==
DFAt e RREHB BB 1.0 ol ol o/ o/ o/ ol o| ol|200] o] o] o| 200 200.0
3 |BH
REE-TREORL |BELEB Eng 1.0 | 10| 40| 40| 40| o| o| o| o| 20| o]l o| o] 150 150.0
7% P Q
6|1 &M %Bﬂﬁiﬁmﬁﬂ BERMT I, 12 ILI ST
D el T | R4 NS 2.0 ol 5| 10/ 5/ 5| 5| 5|20/ 20|10/ 5/ 5| 95 190.0
it
2 | &0
MatENEDRR EHES BB 3.0 ol 5| 10| 5/ 5| s| 5|20 20|10 5/ 5| 95 285.0
3 |&O
Maticrd RN |BRLEH NS 2.0 ol 5| 10/ 5/ 5| s| 5| 20| 20|10 5/ 5| 95 190.0
701 | &BO|EREEM- &M
R Eﬁfﬁ*m*%”@ EEEn  |m 1.0 | ol ol 1| o] o/ o/ of 1| o of o of 2 2.0
2 &0
2fF ERLEB BB 2.0 ol ol 1| ol o/ ol ol 1| ol o o| o 2 4.0
3 &0
BHEHER EHES e 2.0 o/l ol 1| o/ o/ ol ol 1| of o o] o 2 4.0
4 =0
BEED-HE | ERLEB BB 5.0 ol ol 1| ol o/ ol ol 1| ol o o/ o 2 10.0
5 [&O
EEICTA E S e 3.0 ol ol 1| o/ o/ ol ol 1| of o o| o 2 6.0
NS
BAHET RRLEB BB 1.0 ol ol 1| o] o| ol ol 1| ol o o/ o 2 2.0
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145h

45

5H

68

7R

8H

9A

104

118

128

18

2R

3R

PEN
=a

EHi

PaN
=a

xo8 | mE |25 P SR E o | e (D) | (=) e
b TEES | EEK | EEK | B | K| R | B | EER | RN BN BN R R ) )

7 | B

HEEOMS EiEH WA 1.0 | ol ol 1| o] ol o/ of 1| of of o of 2 2.0
8 | B

EE- I BEWLES  |mes 20 | ol of 1| o] o ol of 1| of o o of 2 4.0
9 | B’

RERMYDR(-BE  |BETEE  |E 50 | ol ol 1] o/ o/ of o 1| o of ol of 2 10.0

8 1 |56 EREAN T

%’ﬁﬁﬁﬂﬁ‘ﬂw*’g BETLEE  |m6 150 | ol ol ol ol o o of o of 1| of 1| 2 30.0
PRER:;

RERY BEHLEE  |me 1200 | o]l ol ol ol o/ o of of o 1| ol 1| 2| 2400
3 | B

FEEBHY REWLES  |mes 3000 | o/ o/ of o of ol ol ol of 1| o 1| 2| 600.0
4 |E7H%

REIY OB, ik [,

e BETLEE  |mes 20 | ol o of o of of o ol of 1| o 1| 2 4.0
5 | B )

%ggggﬁ”#ﬁwﬁ BETLEE  |H 2000 | o/ o/ of o of ol ol ol of 1| o 1| 2| 400.0

o1 &0 ERREM BRM

BRAEEOBLE |SREE DR 20 | 3| 3| 3| 3| 31 3 3| 3| 3| 3| 3| 3| 36 72.0
REL=

BiERER EEH  |mes 40 | 3| 3| 3| 31 3 3| 3| 3| 3| 3| 3| 3 36 144.0
W=

MEEOSM B |ZREE |0 so | 3| 3| 3| 31 31 3 3| 3| 3| 3] 3| 3 36 180.0
2 (&0

BEEEICRA T 30 | 3| 3| 3| 31 31 3 3| 3| 3| 3| 3] 3 36 108.0
5 | £

BEEOMS EEEn  |mes 30 | 3| 3| 3| 3 31 3 3| 3| 3| 3| 3| 3| 36 108.0
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145h

45

5H

68

7R

8H

9A

104

118

128

18

2R

3R

At

x| EmE | &% PE wRhS B wag | asmss (BT | (=) s
) (FE | 1R | 130 | 18R | B | R38R | 138 | 18R | B | 18R 148 | 48| 143K ) )
REZX:]
HEEORR EETEE | 3.0 3 3| 3| 31 3] 3| 31 3] 3] 31 3] 3 36| 1080
7 | B
EEBENBRT  |EHEHE OB 100 | 3| 3| 3| 3| 3| 3] 3| 3| 3| 3 3| 3 36 360.0
10| 1 |&BO|RESEER)—7
LykEDTRG HERE (FERMAE)A~D)—T| __
Lol BORS. BEnper |SREE (M 3.0 |200|240|140| 20| 20| 80| 20| 20| 20| 20| 20{100| 900 2,700.0
BEDOHER - BA K EDERA
2 | B
RABMORER EX%% 9838 5.0 ol o of ol ol 1| o o of of o 1 2 10.0
Zom 1|1 55|20k
HROEFRENSD | x-
LAY St i S R 4.0 |800|800|700|900(800|800|800|800[700|700|600|700(9,100 36,400.0
2 | B ] o ]
XM MENSORE |z |mn 4.0 | 80| 80| so| 80| 8o| 80| 80| 80| 80| 80| 80| 80| 960 3,840.0
BE
%W‘b”’ﬁ“ﬁ"”’ EHEE (D6 4.0 | 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 240 960.0
IS
= E24
?E“E%‘Dﬂy*mﬂ*a' EHEEE  |mes 60.0 | 40| 40| 40| 40| 40| 40| 40| 40| 40| 40| 40| 40| 480 28,800.0
5 | B
BMEYIDFE (BMERTER | == .
e FHEE  |FE 20.0 | 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 240 4,800.0
6 | B
EEOBE e IS 5.0 |600/600[600|600|600[600|600|600[600|600|600[600|7,200 36,000.0
7 K,
5 HEREOERERE
CHSEORGHED |[BETEE (ke 45.0 | 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 240| 10,800.0
pE S
8
5 HERECTHERS |
CESEORGHED |BEEE (ke 45.0 | 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 240 10,800.0
BE~NDREA
9 | B ARERE A, SR
AN (R FIA BOCHE ) o e g Kans 20.0 v | | R ) 240.0

i?‘é%%ﬁiﬂ:d)ﬁ%%&%ﬁ&ﬁ
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145h

45

5H

68

7R

8H

9A

104

118

128

18

2R

3R

At

&t

xo8 | mE |25 P SR E o | e (D) | (=) e
b (FE | 1R | 130 | 18R | B | R38R | 138 | 18R | B | 18R 148 | 48| 143K ) )

10 | &EQO

igﬁf%‘;ﬁ%@m‘ EEn  |me 1.0 | 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 120 120.0
EZS

o — [

AFLITVIOR Izgwn [ 15.0 | 1| 1| 1| 1] 1] 1| 1] 1| 1| 1| 1| 1| 12 180.0
12| &EQO o

RRMNAERELE |

*F%EZ?*('J'TR’—GUL??T%VE EEn  |me 50 | 3| 3| 3| 3| 3| 3| 3 31 31 3| 3| 3| 36 180.0
13 (&0

ffj%ﬁf?’_’%’%”"a EEEn  |m 4.0 | 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 20| 240 960.0

2|1 | EH|EFHE

BARER EEEn  |me 0.8 | 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 120 96.0
2 | B

BRI EHEH  |mes 2.0 | 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 120 240.0
3 |EHE

SR g 32 S EPN )

,"%‘,“Jﬁﬁ**’f"ﬁ’étﬁ“*m EEEn  |me 2.0 | 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 120 240.0
IS

;ﬂ;_%‘”"“’b*%ﬁ% EEEn  |m 6.0 | 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 120 720.0
5 | B

MEEOEE. BRI |RETEE | 2.0 | 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 120] 240.0
6 | B

BIEEAEEE EEH  |mes 0.8 | 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 120 96.0
7 | B

S ME L EHER  |mes 3.0 11 1| 1| 1| 1l ot 1| 1] 1] 1] 1] 12 36.0
8 | B

NEREEMERIR  |EXLEHE |08 2.0 11 1 1| 1| 1l ot 1| 1] 1] 1] 1] 12 24.0
9 | £

NERBEMERD |RETLE |08 1.0 1 1 1 1| 1| 1l ot 1| 1] 1] 1] 1] 12 12.0
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REETR)) P =5 &
S48 B X455 thsy4E ] Eeps P IR 4H | 5B | 6A | 7B | 88 | 98 (108|118 |128| 1B | 2B | 38 =1 (B (=) o
5 | | R | e | ek | ek | R R | ek | sk | k| R R %) %)
10 [ B7%
TMg@EMZEEE RETEH BNR 0.8 i 1| 1 1| 1| 1| 1| 1| 1 1| 1| 1| 12 9.6
HE3:
HHESRICASD RFEXEH BNe% 0.8 10| 10( 10| 10| 10| 10| 10| 10| 10| 10| 10| 10| 120 96.0
3 [ 1 [BAEMLED
HEEERN RREH BNR 1.0 [100({100(100(100|/100({100| 50| 50| 50| 50/100{100{1,000 1,000.0

&5t  249,726.0 516,369.6
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EREB—%

RIRFERBOFEH (RS HhEEREEER]

145D - o o
x5 | BE | 2% A EBNE Eiun R gugpgpy | 5| OB | 8 | 7R | 88 | 9R 108 | LA 11281 1R | 28 | 3R B | s | E
b FHEER | fEER | MRER | MEER | AREER | EER | MEER | MRER | MEER | MRER | MR | MR BS54 b b
Al #EIZ ] 1 [ 1| BO|EREREZM
&ﬁ%%’i MEEQRA-RNY | RRLE |0 20 | 80| 80| 8| 8 | 8 |8 | 8 | 80| 8 | 80| 80| 80 | 960 1,920.0
2 (&0
DEEEED EHEHE |26 3.0 | 80| 80 | 80| 8 |8 |8 | 8 | 80| 80 | 80 | 80 | 80 | 960 2,880.0
3 |&O
XU REHR | ziewn (e 20 |8 |80 |8 |8 |8 |8 |8 |8 |8 |8 |8 |80 |90 1,920.0
4 [&O
BIRHITOVTORE |EEREHE B 30 | 85| 85| 85| 85|85 |85 | 85| 85| 85| 85 | 85 | 85 |1,020/3,060.0
5 (&0
. = = _
AR T RN e |we 20 | 80 | 80 |80 |80 |8 |8 | 8 |8 |8 | s | s | 8 |90 1,920.0
HEX:]
BERD EHEHE |Hes 3.0 | 100| 100| 100| 100| 100| 100| 100| 100| 100| 100| 100| 100|1,200 3,600.0
AES:
EETFOLICRE  |EREE (W 1.0 | 100| 100| 100/ 100| 100| 100| 100| 100| 100| 100| 100| 100|1,200 1,200.0
2 [ 1]®&O %ﬁﬁ%%%ﬁ(ﬁ
FARERERD) |pmmnma-am  |SHLE |06 2.0 70| so| 100| 70| eo| 70| 80| 90| 60| 110| 50| 90| 930 1,860.0
PRE=
DEEERE EHEB |HE 3.0 70| so| 100| 70| 0| 70| 80| 90| 60| 110| 50| 90| 930 2,790.0
3 |&®&O
FHADHH EHEHE |26 2.0 70| so| 100| 70| eo| 70| 80| 90| 60| 110| 50| 90| 930 1,860.0
r s
BOMGET EHEB |HE 1.0 70| so| 100| 70| 0| 70| 80| 90| 60| 110| 50| 90| 930 930.0
HEL
. BB (17:3012fA1
F—BAA SRR |eoklBaiE | 3.0 | 120 140| 160 120| 100| 110 140| 150 100| 180| 80| 150|1,550 4,650.0
6 | E%
_ _ BB (17:30(=FAI<
E8H- AR FREH gbm;t%s(ﬂ 5.0 120| 140| 160( 120| 100| 110| 140| 150| 100| 180| 80| 150|1,550 7,750.0
10:00
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1 {4120 A E5 E5
534E BE | x4 - e— Eepas - RS 48 5H 68 78 8A 98 | 108 | 118 | 128 | 1A 28 38 CEL [Py E
b PRER | FEER | FRER | FEER | PRER | FRER | FRERC | FEER | FRERC | FRER | FEERC | MRER | MR B2) b2
BEZ:
_ BB (17:30(=FI<
EEIT7AIVITRE RREH ’E‘Efﬁ)\)t%sl;% 1.0 80| 80 80| 80 80| 80 80| 80 80| 80 80| 80| 960 960.0
31| R0 |BER(WES - —
ﬂg::;%%{ﬁ%ﬁ%% HEE DA -RH FREH e 2.0 45 45| 45 45| 45 45| 45 45| 45| 45| 45| 45| 540 1,080.0
2 |&A
WEELERER REEE BB 5.0 45 45| 45 45| 45 45| 45 45| 45| 45| 45| 45| 540 2,700.0
3| &DO
XA DA FEEH (e 2.0 45 45| 45 45| 45 45| 45 45| 45| 45| 45| 45| 540 1,080.0
4| &0O
BOXGHET FHEEH B 1.0 45 45| 45 45| 45 45| 45 45| 45| 45| 45| 45| 540 540.0
E
. _ BB (17:30(=R8I<
T—3AAN RiEEH ‘gﬁ%&)g%ﬁti@ 3.0 70 70 70 70 70 70 70 70 70 70 70 70( 840 2,520.0
6 |EH
_ _ BB (17:301=R8I<
E5- ANHER REXRHE ‘gﬁ%&)\)i%eli?; 5.0 70 70 70 70 70 70 70 70 70 70 70 70( 840 4,200.0
ES
_ BB (17: 30181
EEITFAIVIZRE EHE ’E*T)tf)%\)i%elﬂ% 1.0 70 70 70 70 70 70 70 70 70 70 70 70| 840 840.0
2:
EQBHBEE RFEORLL. BFEED (-
KHAEAE) 24 = FREH A 1.0 2 2 2 2 2 2 2 2 2 2 2 2| 24 24.0
2 (&0
REEREAZHA FHEFEH | 4.0 2 2 2 2 2 2 2 2 2 2 2 2| 24 96.0
3|&O
HEE 2 - FER FREH A 5.0 2 2 2 2 2 2 2 2 2 2 2 2| 24 120.0
4 |&E0O
BEORGHET FEEH  |BIEF 1.0 2 2 2 2 2 2 2 2 2 2 2 2| 24 24.0
5 |EH
. - BN (17:30(= I
T—E2AN REXRB gﬁtﬁ%\)t%ﬁlxﬁ 3.0 3 3 3 3 3 3 3 3 3 3 3 3| 36 108.0
6 |
B _ BB (17:301=R8I<
E55- AhHER REEH grot%\)t%éliﬁ 5.0 3 3 3 3 3 3 3 3 3 3 3 3| 36 180.0
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TS & z
K448 B X% th5y5E sgei B s IEEERY 48 5H 68 78 8H 98 108 118 128 18 28 38 (=} (R (=) e
s | e | e | e | e | e | oemm | e | e | oem | oemm | e | e | as | o 5
AES:
_ BB (17:30(=FI<
BETTOUSRE  BREB |SouUsAGE | 10 3l 3] 31 3 3| 3] 3 3 3 3 3 3|36 36.0
51 |&O ﬁﬁ%(ﬁiﬂ%‘lﬁ%
BXEHI RN | wnma-mim FRLEB |EEE 1.0 2l 2 2l 2 2l 2 2l 2 2 2 2 2| 24 24.0
2 (&0
DEBERD EHEHE |26 5.0 2 2| 2| 2| 2| 2| 2| 2| 2| 2| 2| 2| 24 120.0
3 |&O
FHEDHB SEEH |6 1.0 2 2| 2| 2| 2| 2| 2| 2| 2| 2| 2| 2| 24 24.0
4 [&O
BORGET EHEHE |26 1.0 2 2| 2| 2| 2| 2| 2| 2| 2| 2| 2| 2| 24 24.0
5 | B
. } ENE% (17: 30(=F8I=
F—BAS BRRB |SousasE | 3.0 3l 3] 31 3 3| 3] 3 3 3 3 3 3|36 108.0
6 | £
. _ BB (17:301=R8I<
245 A HRER SRRH |souBanE | 5.0 3l 3] 31 3 3| 3| 3 3 3 3 3 3|36 180.0
AES: ]
_ BB (17: 30181
EETTOURE RS (epuossiE | 10 3l 3] 31 3 3| 3] 3 3 3 3 3 3|36 36.0
6 | 1|FK | SENESCHERE
24+ BHEFIEERK. ZAT-H . 1
g e SR | mhns SubsE 60.0 1| 1| 1| 1| 1 1| 1] s| 10| 5| 1| 1] 29 |1,740.0
2 [&O
MEBEEQRA-ZH  |BEZE |0 5.0 25 200 e 6| 3] 2| 2| 1| 1| s40| 210 60|1,176 5,880.0
3 |&®&O
H] -
DMPAOERORIRE |zrxn |me 30 | 25| 200 6| 6 3 2 2 1| 1] s40| 210 601,176 3,528.0
4 |&O
X DB SREH |06 2.0 25 200 e e 3] 2| 2| 1| 1| 840| 210 60[1,176 2,352.0
5| &0
BOMGET EHEE |26 1.0 25 200 e 6| 3] 2| 2| 1| 1| 840| 210 60|1,176 1,176.0
6 | &7
S ED IR A | =
ggiﬁw&é Qe Egg%’fl’ 2.0 40| 30| 10| 10| 5| 3 3] 2| 2|1,400| 350| 100|1,955 3,910.0
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1AFSEED e & &
KA3%E aE X% th5y5E srENTS B s IEEERY 48 5H 68 78 88 98 10 118 12H 18 28 3R =1 (R (=) e
5 | | | R | R | fEER | dEm | M| R | R | M| fE | M 53 5
AES:
T—2AH REEH |fUIBE 5.0 40| 30| 10| 10 5 3 3 2 2|1,400( 350( 100|1,955 9,775.0
FRES: ]
EHE- A SR REEH | ANKNER 5.0 40| 30| 10| 10 5 3 3 2 2|1,400| 350| 100|1,955 9,775.0
9 |EH
EEI7AIVIRE FREH |fUIBE 1.0 40| 30| 10| 10 5 3 3 2 2|1,400( 350( 100|1,955 1,955.0
7 | 1| &BO|[BIL-EEREZA
HEZEDEA RS REEEH |HEF 3.0 60| 40| 40( 40| 40| 40| 40| 40| 40| 180| 70| 60| 690 2,070.0
2 |&0O
WEEHHER REEH | 5.0 60| 40| 40| 40| 40 40| 40| 40| 40| 180/ 70| 60| 690 3,450.0
3 |&O
XD EREA REEEH |HEF 2.0 60| 40| 40( 40| 40| 40| 40| 40| 40| 180 70| 60| 690 1,380.0
4|&O
EOXGET FiLEH  |BIEF 1.0 60| 40| 40| 40| 40 40| 40| 40| 40| 180/ 70| 60| 690 690.0
5 | B
. _ BN (17:3012R81Z
T—HAN RiEEH gfg%lé\)i%f%!ﬂ% 5.0 100 70| 60| 60| 60/ 60| 60/ 60| 60| 300 120{ 100|1,110 5,550.0
HEX:]
. _ BB (17:301=R8I<
E5- AHOHER FREH gﬁ%ﬁ‘fﬁﬁm 6.0 100 70| 60| 60| 60/ 60| 60/ 60| 60| 300/ 120{ 100|1,110 6,660.0
AES:]
.. _ BB (17:3012RAI
EETFAIVICRE FREH fgg%\)gefﬂa 1.0 100 70| 60| 60| 60/ 60| 60/ 60| 60| 300 120{ 100|1,110 1,110.0
8 |1 |EH | OEEEZMT
OFE#HRLA—ILERYRA |, = XHE (6H. 16
& BETER|~—L2za 10.0 12| 12| 12| 12| 12| 12| 12| 12| 12| 12| 12| 12| 144 |1,440.0 B 568) x 478
2 | &
7= = -
?p@gixsﬁmm BETER| AL 22E 60.0 12| 12| 12| 12| 12| 12| 12| 12| 12| 12| 12| 12| 144 |8,640.0 §"f‘ﬁ2§'§|‘§ﬂx;‘;§a
3|&O
HEEDEA-2ZHE RTER (BB 2.0 7 7 7 7 7 7 7 7 7 7 7 7| 84 168.0
4 &0
WEERHER RETEH |6 1.0 7 7 7 7 7 7 7 7 7 7 7 7| 84 84.0
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181D

PN
[SE]

K434E X4 thsysa e— Eepas - RS 48 58 68 78 8H 98 | 108 | 118 | 128 | 1A 28 38 =H (B E
) PHER | FRER | FRE | R | fRER | MRER | fRER | fREC | RSO MRER | fRER | MR | MR b2}
=0
XIEDERA FEEHE  |ENEF 1.0 7 7 7 7 7 7 7 7 7 7 7 7| 84 84.0
=0
EOXGHET FEXEHB |Hex 1.0 7 7 7 7 7 7 7 7 7 7 7 7| 84 84.0
E
. . BDHE (17:30(=R8I<
T—EAN REEH Ebm\i%él;% 2.0 12 12 12 12 12 12 12 12 12 12 12 12| 144 288.0
10:00
EX:
. _ BNE (17:30(2R8I<
E5E- AR RITEHE |apaEaEE 3.0 12 12 12 12 12 12 12 12 12 12 12 12| 144 432.0
H10:00
E=
. BB (17:301=fH1
EEITFAIVICRE FREH ‘gbm\)i%e(i% 1.0 12 12 12 12 12 12 12 12 12 12 12 12| 144 144.0
12:00
=0 Ta%
e g e =
R=ETHILLER FEEH (e 3.0 4 4 4 4 4 4 4 4 4 4 4 4| 48 144.0
DEITH
=0
2t R EEHMER RREHB | 3.0 4 4 4 4 4 4 4 4 4 4 4 4| 48 144.0
=0
HREERAGA-EA |ERFEH | 3.0 4 4 4 4 4 4 4 4 4 4 4 4| 48 144.0
=0
EF;%%LZ‘E%%E&H& EX
R 78 [ 5 i 48 PR |ENEF 3.0 4 4 4 4 4 4 4 4 4 4 4 4| 48 144.0
e
_ BB (17:301<fE1
T—E2AN RITEHE |apBEEEE 3.0 4 4 4 4 4 4 4 4 4 4 4 4| 48 144.0
H10:00
X
) ) BNA (17:301=fI=
E5E- AR FREH ‘gbm\i%ﬁ(iﬁ 3.0 4 4 4 4 4 4 4 4 4 4 4 4| 48 144.0
10:00
5 R HEN A RE D XIS _
;g%%mm-%%ﬁﬁi-'rﬁiﬁ REEH  |masr 3.0 3 3 3 3 3 3 3 3 3 3 3 3| 36 108.0
<
5 - "
BHEEIREFREE| B[S (17:301=FAI<
ZELES)DEEDR | RIEXHE (L BEEE 3.0 3 3 3 3 3 3 3 3 3 3 3 3| 36 108.0
T LD AERE H12:00)
e
_ BN (17:301ZRAI<
EEITFAIVIZRE RRAEH |avulBaEE 1.0 3 3 3 3 3 3 3 3 3 3 3 3| 36 36.0

H12:00)

31




TPZD | & =
x5 | BE | 2% H534E EBHNE e i gugsspg | 5| PB | 8 | 7R | 88 | 9R | 108 | LA | 1281 1A | 28 | 3B | SR | s | (s
5| e | e | oems | oeem | e | e | e | e | e | e | e | e | e | 9 P
ﬁgﬁﬁ 1|1 |3B% | EBEREZDE
Sx e 7 N s AL S
e B CAREORATEE |zpxn (ma 1200 | o 1| o/ o o o o o o o o of 1 120.0
;agﬁ'éﬁ
2
=5 BREREOLHES .
EEFHCTES TSR RIETRI FEOMR | 1200 of 1| o o o o o o o o o o 1| 1200
3 | =B
T HA SRR 5 _
%giﬁggagx” EEMEH|FEOME | 300.0 of 11 o o o o o o o o o o 1| 3000
4| EH
EFEBOTIRER |RETEB|FEOME | 3000 of 1| o o o o o o o o o o 1| 3000
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